Precalculus Name H e«*:j
Test Review 2.5-2.7 Period Date

1. How many times is x =4 aroot of #(x)=x°—17x* +100x* —160x> — 640x” + 2816x —3072
Run x=4 through o 95w\vhe-\'ic, daart until Hhe remainder ient zero.

Cwork is ot +he end of ancwer Ke ») 5 +Hmes
2. How many times is x =—3 a solution to x’ +x° —21x" —5x* +160x’ —72x* —432x+432?
3 +Hwmes

3. Given the following synthetic chart. What conclusion(s) can be drawn?

=5 3 -1 -11 6

-6 14 0
3 -7 3 0 A
Yy (&) @) () lower beuwne
(a) x = —2isazero (remainader E?‘YO?
B) x = —2isanupper bound ( A\ positive) .
@ x = —2isalowerbound ( A\ternate Sygns) 5
d x =-2isafactor (x+2) wou\d be *he Lockor +,oj'
e) No conclusion can be formed &
\OO
0
4. The graph of f appears as follows. What is the solution to f(x) > 07 = “
2) (_i'oo) asymptotes @ Tt \\
c) (-1,1) U (1,») £ A <
—1, 2) U (1, ) EEXEEXEMCTEE
e) none of these J \\ : TZexp 5.2
N
Vo ]
, 1 1 :
Using graphing caleulatsr
5. Solve. quove X~aX\S
x2—=3x—-18>0
-00,-3)\ , 00
(X -GN X+3)=0 ( ’ 3? (e, %)
s=b_Fa-g “s ™ (6.0
6. Solve. v oe\ow * :\ o 32,0O (

9x3 — 2522 < 0 o eV
x2(ax -28)=0 - c
X=0 X=7%/q (..m"l /ﬂ
7. Solve. —
x -2

x+2 T x—1 s\

XQ'BX'L{ - (X‘HXXT ’) (-\‘DW

X (x-1) —24)4*23 — e B 2 | .
wh oy sy - Cx+2U%=1) Cx2)y-1) Jj l\

(25/4,0) T

/
\/ ) (_2)-\)\)(\,4\

<0

i




8. Solve. Show work including a sign chart. Give your answers as intervals.

12x2 +5x < 2 (=6 () (Y
\infrDX -2 =0 e_‘__e_____._\_q,__._-—\———-—-) (’2/3)\1"\)
Cix -1 ABK+ 2)=0 L ¥ oM vees —
X=lq  x=-%3 hos "

9. Solve. Show work including a sign chart. Give your answers as intervals.

5 -HE) D - 2,°0)
Lx—6 ) ®O (W - Lz,
rx-6_, = B e Lok C-3,0) U

X 4H'—4——®-—‘—\"’Q“——"$)

"3 pod p NegZ  pos
(x+2)x-2) -, MG ‘! J

x \

10. Solve. Show work including a sign chart. Give your answers as intervals.

- (:)_(:? i S
x% —x—20 B SR H® f‘em ERSP; (-4, SNIE )
_—Z—_ﬁ < 0 c-jtx L\ X Z’}QF) [ .. A KU—1+’)
X< —=5Xx — e S e e S~ 23
05 Y, o 5, !
(x=-5)(xAn) P T PoS T P05
=0 r\eta N
(x-)(x+3) neg

11. Write the polynomial as the product of linear factors and list all the zeros of the function.

T T S =l V-l A5 13 b6 -40 -80
f(x)=x"-x"-15x* +13x> + 66x° —40x—80 L - 2 13 -2k _-40 80
Zevros from calewledsy “30 o
2] 1 -2 A3 26 HO
=he L 2 0 "2b O 20
%= * 2v2 o -5 6 Yo o
x= X5 x4 - ax*4Y4o=o
Q@\\:(\<+\‘)(X'?.5(X—Z\J'iyx+2ﬁ3()<'\1€\Xx‘f\r‘g> (x> B Xx*-5 d=o

X= t\J8 x=1% \F5‘
12. Write the polynomial as the product of linear factors and list all the zeros of the function.
f(x) =2x*+5x3 +4x? +5x + 2

Zexos Hrom calcutatsr :3__\ 2 5 4y 5 9
r=-2 L -4 -2 4 -2
=t 2X %4 xFraxa =0 Packor Bu
K= - \__,,_.«.-.-.?i..\\__,ﬁ______”s %(ou-g"\n_%
£ () (® TITR S = S Ta X (2x+) + (24T 0

(zx+\YXx*+D=0
XK=-WYo x=%\



13. Write the polynomial as the product of linear factors and list all the zeros of the function.

f(x) =x*—4x3 +8x%2 — 16x + 16 201 -4 3 L L
Zeros Rom calalador y 2 -4 3 b
X= Rplict .
2 YY\u.l p\\CH‘% 2 200 2 Y g O
X=X 2, v 2 o T
T 4 °
£ oY= (-2 (x -20)x+21)
Xty =0
Xx= t2l
14. Write the polynomial given the following zeros.
Zeros: 2+iand -5 A4-i < zerp elo0
'PC)L\: (x4 SXX’Z"\ 3()(‘2—""3 ‘PC%\): X%—L‘X%}SX
2.
Cx (X2 -2 X 4R Sx * -20% 25
| 2y 42y i 3 a
——ezXitl 42 7 £ )= R TART-15X425
) ) I
Ak ) x 2yx ) —
15. Write the polynomial given the following zeros.
Zeros: —6 and —2 (multiplicity 2) )
%
Ly =z (et bYW 2)n+2) £6)= ¥+ 1ox "4 23X 424
£ (x )= L)%Y x ¥4
SUx)z % Zaux ZaUx
Lx* 424% +24
_ x%-2x+3 %-vakercepd
16.  f(x) =—3 (axeszo | %= ZtW3> \maginary
\
Hole: None

Vertical asymptote: ¥=-2

Horizontal asymptote: None

End behavior asymptote: Y= Y -9

X - Intercept: None >
y - Intercept: (0,%%) ‘/ y
Domain: /K X# -2 .
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|
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3x2-2x+4
x2—-4x-5

(X-5YX+1)

17.  f(x) =

Hole: None.

Vertical asymptote: x=5 ,-1
Horizontal asymptote: Y=3
End behavior asymptote: None
x - Intercept: Neéne

y - Intercept: (0,-/5)

Domain: R x+# 5,-|

18.  f(x) = x:;_f;z Cx=2Dx+ V)
Cxr Y A-3)

Hole: None

Vertical asymptote: ¥ =-3,%

Horizontal asymptote: Y= \

End behavior asymptote: N6&Ne

x - Intercept: ( 2,0 )(-\,0)

y - Intercept: (0,2/ q}

Domain: ‘R X;/: -3 3

. PRV

-] a—— ———t gt in-

A

|

R Y

——— | repmpererec

en—




_mes 3000
SRR ¢

Hole: ( 1y 3/23

Vertical asymptote: X = -\
Horizontal asymptote: 'ﬁ: O
End behavior asymptote: NéNe
x - Intercept: Nene

y - Intercept: (0,%)

Domain: Ty = 1,-\

_ 6-3x -3 (X’é
200 f(x)= x2—5x+6 WX'B)
Hole: CZ) 3)

Vertical asymptote: X = 3
Horizontal asymptote: l;J) =0

End behavior asymptote: NoNn€
x - Intercept: Neme

y - Intercept: (o,\)

Domain: T2 x 2,3

21. Find the enc% behavior asymptote
_2R2x %2 -23x-2
a)  h(x)==—,5= b)

X* ¥3w-Y
225 Y ax3 a2 2342
3 45t
bx *-23X
- lx? 45X
i -Bx '_2.
Y3420
-22

U= % 3234

W'

N

e . — s el .

Flx) = xt-2x+1

x—2

2|l o o -z

M..lb SR
v 2 4 L 3

%:y3+wf“%x+b

RS
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